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% i B - MIRTE B % B B ® # wm =
EER{E 6,028, 599
T RE 6,028, 599
T RE 6,028, 599
EEAGE 5, 874, 550
HIEES 415, 450
1 EHE %R 1.00 415, 450 415, 450
=
EIAEOKE 3,961, 600
2 ERUNE - BB 1.00 259, 250 259, 250
=
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=
4 FRBFED ST - B8 1.00 302, 950 302, 950
=
5 T A EDKRE 1.00 1,163, 400 1,163, 400
=
6 ETFIEDRET 1.00 1,163, 400 1,163, 400
=
1 BT ITRRD&RE 1.00 581, 700 581,700
=
8 R LDFEDE - BE 1.00 292, 600 292, 600
=
BMETEEOES 239, 750
I BEITEEOHEH 1.00 239, 750 239, 750
=
i - |mE 657, 900
10 HEaTthE 1.00 117, 400 117, 400
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=
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=HERARE 50, 681

15 EHAME 1.00 50, 681 50, 681
=

[p2S 70, 000

16 £BHRERE 1.00 70, 000 70, 000
=

& 33, 368

17 REXEE 1.00 33, 368 33, 368
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% g R - KSR Bifr B 2 B i & B W =
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Z O fth SR f 5,874,550 x 53.85% ( 35% + (1 — 35%) ) 3,163, 445
BRI 6,028,599 + 3,163,445 9,192,044
—REEES 9,192,044 x 53.85% (35% =~ (1 — 35%) ) — 1,959 4,947, 956
KBS 9,192,044 + 4,947,956 14, 140, 000
HEREELE 14,140,000 x 10.00% 1,414,000
RHEEH 14,140,000 + 1,414,000 15, 554, 000
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A 6. 00 55, 200. 00 331, 200
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2 b g - BIRTE By H = B ® # " =
FEHER
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A 1.50 55, 200. 00 82, 800
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